268 Numericka rjeSenja zadataka

670 Fa=-TKN,F, =0,F_=-6kN, M, =210kN-cm, M, =540kN-cm,
M, =0, M,=0,T,=M_,=210kN-cm, M, =-210kN-cm,
M, ==300kN-cm, M_;=-210kN-em, M =0, M, =180kN-cm
M,=0,T,=M,=-210kN-cm, M, =-180kN-cm, M, , =-540kN-cm.

671 F. =-2FF, =-FF,_=-2F, M, =2Fa, M, =3Fa, M,, =—2Fa.
M,=0,T,=M, =Fa, My, =2Fa, T,=M,_,=2Fa, My, =Fa,
My, = My.; =0, M, =-Fa, M, =Fa, M, =-Fa, M, =0.

670 Fa=—16TKN,F, =—15kN,F, = =7kN, M,, =1470kN-cm,
M,, =1400 kN-cm, M, =-1320kN-cm, M, =0, T, = M,, =560 kN-cm,
Mc, =-1050kN-cm, M, =-560kN-cm, My, =-1470kN-cm,
My,,=-480kN-cm, T, =M ; =-1470kN-cm, My, =-560kN-cm,
My,;=-480kN-cm, M, ;=-1400kN-cm, M, ;=1320kN-cm.

673 F=12kN,F, =8kN,F, =-8kN, F, =4kN,F, =-16kN,
T=M, =My =M, =M. =1200N-m, M. =-2400N-m, M, =—1200 N-m,
M, =2400 N-m, M, =4800 N-m.

674 Fa=10kN,F, =1333kN, F = - 1333kN, F,, =—1333kN,
F, =—6,667kN, T =M. =M, =M, =1200N-m, M, =0,
M, =M, = 600N-m, M, =-1200N-m,
(M), =—400 N-m, (M) =200N-m, M. =400N-m.

675 F. =185N,F, =25TN,F, =-6045N, F, =-737N,F, =-8655N,
F,=128kN, T., =M. =M, =160N-m, M. =-36N-m,
(M, ), =84,63N-m, (M) =47,63N-m, My =130 N-m, My, =111N-m.

676 F=10kN,F, =13333kN,F, = L667kN, F, =10LkN,
Fy, =6,667kN, F, =8333kN, T =M, = M, =M., =M, =1500N-m,
M, =0, M. =-4000N-m, M. =—2000N-m,
(M, ), =-500 N-m, (M, ) =-2000N-m, M, =-2500N-m.

7.1 TEZISTE

7.1 V=7,75m’ xs= 1,839 m, ys = 0,875 m, zs = 0,637 m.

72 V=18720 cm’, xg = 12 cm, ys = 13,85 cm, zs = 13,23 cm.

73 V=0,245m’, x5=0,773 m.

74 h=rl3.

75 h:§(4—\/7)z0,4514r.



